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Jh—T70mR EREF(304)

25 FREENSFFR

ERL | IZIE K % 2E| i B | 7oMm) [ 70M(2) [ & Et [ 10-X]| X =
1 1C AR Hth 2 FEET 303 302 605 13 2
2 7A FH ErE 2 FEXRM 297 294 591 11 5
3 2 A B KR 2 TR 294 290 584 10 4
4 6 C R BL/\ 2 FEEF 291 267 558 7 0
5 4B EH R 2 50 260 287 547 8 2
6 2C Ha ME 2 FEERMN 279 264 543 13 6
7 5A ILEFE & 1 FEET 262 274 536 5 1
8 1A it FEEK 2 FERH 264 265 529 4 3
9 6 A JKH #REK 1 FEET 254 265 519 5 4
10 9C FaA (e 2 FEEF 264 253 517 8 0
11 3C 240 BN 2 FEET 256 253 509 6 2
12 4 C il =2 2 FEXEM 232 259 491 8 2
13 8 A KZH 2 FEET 250 241 491 2 1
14 8 D SEH 2 237 e 248 239 487 4 3
15 5B Rl & 2 B30 244 243 487 3 3
16 4 A WA &3} 2 EHE 234 243 477 4 3
17 9B EE E 2 50 247 216 463 3 1
18 3A s e 2 EHE 244 216 460 5 2
19 9 A TE EAER 2 FEET 225 225 450 8 1
20 7C EiR A 2 FEEF 234 216 450 2 0
21 8 C WA H4&E 2 FEET 203 231 434 3 0
22 2D =B B 2 | IRIBHIRE 188 239 427 3 0
23 1B MR 2 50 225 190 415 1 1
24 6 D E&III X 2 FRILOM 224 184 408 3 0
25 6 B 1EE Kith 2 hi0 198 205 403 2 0
26 1D R N 2 | tRYBEFIRE | 203 193 396 7 1
27 5C HE B 2 FEEM 210 185 395 1 0
28 7D FE EX 2 FRILOM 182 198 380 3 1
29 4D Hi &L 2 FRILOM 203 187 390 1 0
30 3B B = 2 T80 176 166 342 1 0

JHh—T70mR EREF(174)

EGL | LB K 4 FE| B B [tom) | 7omM©2) | & B[ 10-X| X 5%
1 13 A g BX 2 FEE 300 311 611 19 3
2 1A BY BHE 2 30 274 315 589 13 4
3 13D mER & 1 FrILOM 289 299 588 14 3
4 11 B Ek B 2 FRILOM 272 275 547 10 3
5 10 C T EK 2 FIEERMN 271 273 544 8 2
6 14 B ER 88 1 T80 272 265 537 4 2
7 13C Y 2 FEE 267 268 535 7 5
8 12 A ZEH UMY 2 53Ul 250 273 523 6 1
9 10 B Ek = 2 FRILOM 265 253 518 6 1
10 [ 14A hft F#R 2 FEET 263 252 515 8 2
11 11C INEE BHE 2 FEE 231 271 502 5 2
12 [ 10A R BEE 2 TR 242 240 482 7 1
13 | 12B BAR ER 1 FEE 257 215 472 6 2
14 | 14C =K ®#{E 2 FEET 203 217 420 5 1
15 | 13B REF OGf- 2 53Ul 220 175 395 2 1
16 | 14D a0 EE 1 FRILOM 202 185 387 4 2
17 | 12¢C Ml s 2 FRILOM 146 197 343 1 0




JHh—T70mR —fEEF(14)
G4z | SZIE K % 2E| Fr B | 7oMm) [ 70M(2) [ & Et [ 10-X]| X E=
1 9D LB it FEREsERE| 306 296 602 14 4
JH—T50/30mR BREBF(124)
G4z | SZIE K % 2E| B 50M 30M | & &t [10-x[ X =
1 17 B FIE = 1 TR 277 316 593 10 3
2 16 A SH &4 1 FEEF 264 305 569 7 1
3 18 C B EzE 1 FEEM 250 302 552 9 2
4 18 A X% 3 1 FERH 217 308 525 12 4
5 16 C BiE E 1 YRSEAL & 216 297 913 7 3
6 15 A $F£H K— 2 mE 241 271 512 6 2
7 18 B =8 3t 1 EWE 218 288 506 12 2
8 15 C fam =3l 1 FRILOM 195 261 456 5 2
9 17 A £H EF 1 FRILOM 186 260 446 6 1
10 | 15B LA 1 RIEAIRE 124 252 376 3 0
11 16 B A EX 1 FRILOM 159 195 354 1 0
12 | 17¢C F BEk 2 T30 129 201 330 2 1
1JAh—T50/30mR EREF(74)
e A K % 2E| B 50M 30M | & &t [10-x| X ik
1 20 C WA DX 1 I8 3T tE 267 310 577 13 5
2 21 B B B 1 FRILOM 245 309 554 11 5
3 19 B e HE 1 EHE 231 290 521 8 6
4 20 A A BB 1 B3I tE 198 289 487 3 2
5 19 C FRE X 1 FEET 163 267 430 4 0
6 20 B AEK EiE 1 FEERM 169 259 428 5 0
7 19 A WA EE 2 R 81 194 275 0 0
JH—T30mR EREBF(44)
4z | I K 4 2E| B 50M [ 3oM | & FH[10-X| X ik
1 22 C /K EBE 1 FEXH 301 285 586 10 3
2 22 A EK [5E8 1 FIEERM 267 255 522 10 4
3 22 D R B 1 miE 254 255 509 5 0
4 22 A EE UK 1 R 205 235 440 4 2
JH—T30mR EREF(74)
@4z | IZNE K % 2E| B 50M 30M | & &t [ 10-X] X =
1 24 D \WE &FE 1 TR 296 290 586 15 2
2 23D I EE 1 FERH 280 280 560 9 1
3 24 B =ik B 1 TR 262 270 532 6 3
4 23 A =i B 1 R 257 259 516 7 1
5 23 B )1l #kTE 1 TR 260 246 506 3 1
6 23 C g 1% 1 FEE 207 245 452 3 2
7 24 A Bk Bt 1 FEET 201 226 427 2 1




